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1. w5 e IR e - 1x5=5

Choose the correct answer :

(@) TS SR GRET _ (w@e [/ Hu@s )
T -4AF)T A |
Vegetative propagation in mint occurs
by (runner / offset / sucker).

(b) (231" / “ARAR /[ GOW) __ I FoT© o=einf
EIREIER

Perianth in flower is present in
(Cycas / Pinus / Gnetum).
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(0) RN txem BRews (iR / I/
) AR AR SR | |
Cheiropterophily is pollination in plants
by ____ (birds / bats / snails).

(d) VRIS TN e (o1 / IRG1 /
®) AT Szt 73 -

Tetrasporic embryo sac is formed
by (2 / 4 / 6) number of functional
megaspore. ’

) TFm cfiereis g _ (ifEm /

CeSm / Rafam) SR s |

Rhynic?, belongs to the (Permian /
]:rt:roman / Siturian) period of Palaeozoic

. 5 B B (R e ") .
Write short notes on (any four
(@) s wifiw s
Primitive characters of Ginkgo
) TR R
Geological timescale
(c) Rfea svrm ’f”fm
Various types of aestivation
(d) & 9

Male germ unit
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(3)

fe) <. 3. B. o=l
NPC system

3. raRE 7 ed& WRwe com R @

24P/1184

Rew oI TiRamiR Ry ez fr i 1+7=8

What is inflorescence? Describe any two

special types of inflorescence found in
Angiosperms. Give diagram.

%<1/ Or
SRIRAE 7 2o& SR o R @ vk
SRR SAIRIP R oz o | 1+7=8
What is placentation? Describe, with

diagram, any four types of placentation found
in Angiosperms.

N TR IR S TR gvew R
ab1 o a1 6+6=12

Write a note on the ecological and economic
importance of Gymnosperm.

31/ Or
I BT fors -

Write explanatory notes on :
(a) SRraee afdn
Process of fossilization

(b) WY BARE SRPTR

Angiospermic characters of Gnetum

6%x2=12
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5. ;ﬁ@ﬁm W @ frcae e TETCP 6+6=12
g [ '
Describe the

. sis
process of microsporogene
and microgametogenesis in Angiosperm.

%[/ Or
VI BT foray
Write explanatory notes on :
(@) RS Heyg

Monosporic embryo sac

(b) =z o
Types of ovule

6x2=12

5
(a) R-Roweg SIS Rz oy |
Write a note
fertilizatj

on the significance of double
on.

x2=6
P88 B (R o g 32

Write short notes op

) Iegae
Polyembryony

(%) iR
Parthenocarpy

(iii)ﬁ%rso@wwh

Structyre of dicot embryo
* % %

(any two) :
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